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Q 1 Choose the correct option for each question. 1x5=5
a) Pout means:
i) Tochew ii) To puch out the lips iii) To raise eyebrows iv) None of above
b) Raina believes in heroic ideas , because
i) She watches operas at Buchearest.
ii) She reads Byron and Pushkin.
iii) She is born into a rich aristocratic family.
iv) All the above
¢) Whois heard singing within the house ?
i)  Nicola ii) Catherine iii) Petkoff iv) Louka
d) When the screen opens in Act Il, we find Louka:
i)  Cleaning the table ii) Caring a coffee pot iii) Smoking a cigarratte  iv) Scolding Nicola
e) Sergius calls Raina :
i)  Viper ii) Monster i) Tiger cat iv) All the above
Q. Il Say whether the given statements are True or False : 1x5=5
a) A canister is a kind of pen stand.
b) Bluntschli declared that he was married.
c) Sergius wants to discuss the conduct of Raina with Louka.
d) Catherine and Raina had breakfast out in the garden.
e) The man behaves like a hypnoitzed rabbit.
Q.lII Use the given words both as Noun and Verb in sentences of your own. % x16 =8
arm, blow, drive, go, judge, love , smell, water
Q. IV Substitute the following expressions with one word. 1x4=4

a) Happening in the night
b) office for which no salary is paid
c) a woman trained to help in childbirth

d) a paper written by hand



Q.V Write the Vahubrihi compounds for the given expressions: 1x4=4
a) A factory where beer is made.
b) Which admits of double meaning.
¢) Murder of a brother.

d) A period of fifteen days.

Section—B ( Short Type Questions)
Q.VI Answer any four of the following: 5x4=20
a) What does Catherine consider to be an abominable habit on the part of Raina ?
b) Who was the Serbian officer ?  Why does he want to meet Catherine ?
c¢) What does the man do to reciprocate the pledge with Raina ?
d) Why did Louka say that men never seem to grow up ?
e) What information does Louka give to Catherine in Act | ?
f) Explain the following :

Louka : Not to you, his equal and his enemy. To me, his poor servant, he will not refuge to apologize.

Section- C ( Long Type Questions)

Q. VIl Show that Arms and The Man is both amusing and thought provoking. 10

Or

What opinion have you formed of Major Petkoff and his role in the action of the play Arms and The Man ?

Q. VIl Do the passage given below into English : 14
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Q.A Objective Type Questions on Grammar
1) Complete the following sentences using a suitable present tense form of the verb given in brackets.

5x1=5
i) Magnet ___ (attract) iron fillings.
i) Angmo (go) to school every day.
iii) Computer ( store) a large amount of data.
iv) The little boy (fall) into the open manhole.
V) A plant ( produce ) its food through the process of photosynthesis.

2) Fill in the blanks with suitable forms of the verbs given in brackets , bearing in mind the conditional used.

5x1=5
i) If I (have ) money, | would have paid his college fees.
i) A porter will come if you (ring) the bell.
iii) If water boils, it ( evaporate )
iv) If I (be) the manager, | would not allow him to enter the office.
V) If the car ( dash ) against the tree, we would be seriously injured.
3) Complete the sentences using will or be going to: 4x1=4
i) a) I've got a headache.
b) Have you? Wait a second and an aspirin for you. ( 1/ get)
ii) a)Why are you turning on the TV ?
b) the news. (1/ watch)
iii) a) Oh, ljust realized. | haven’t got any money.
b) Haven’tyou ? Well, don’t worry you some. (1/lend)
iv) a) Why are you filling the bucket with water ?
b) the car. (1/wash)
Q.B Objective type questions on poems.
Attempt all the questions. 7x1=7
1) Inthe poem ‘No Men are Foreign ’ what are the things in nature that a man needs to live with ?
a) Air b) sun c) Water & Plants d) All the above
2) The poem ‘Road Not Taken’is written by
a) P.B Shelly b) William Wordsworth c) Robert Frost d) John Keats

3) Miss Pushpa’s father was a
a) Doctor b) Advocate c) Teacher d) Clerk



4) What message does the poet want to convey in the poem ‘ No Men are Foreign’ ?
a) All men are our brothers b) All men are good c) All men are bad d) None of the above

5)  Why was the poet able to travel on one road only ?

a) Because he had to walk alone b) Because he had no vehicle  c) Because he was one person.
d) None of the above

6) Inthe poem ‘No Men are Foreign,’ a single body breathes beneath all means
a) Uniforms b) Heads c) Souls d) All of the above

7) What kind of personality did Miss Pushpa have according to the speaker ?
a) Harsh b) Sweet c) Dull d) Loud

Q.C Short Answer Type Questions. 4x3=12

Q.1 How vital arole does Nature play in the poem ‘ The Road Taken’ . Explain
OR
What is the significance of the function mentioned in the poem ‘ Goodbye Party for Miss Pushpa T.S ?

Q.2 Write a shot note on the poem ‘ No Men are Foreign’
OR
What do the two roads symbolize and why does the traveller choose the road not taken ? Discuss.

Q.3 Write the signinicance of the poem ‘Goodbye Party for Miss Pushpa T.S.”’
OR
What universal message does the poem ‘ No Men are Foreign’ extend to us ?

Q.D Short Answer Type Questions on Listening Skill ( Answer any two ) 2x4=8
a) Why listening is important in communication ?
b) List various types of listening .
c) Describe the barriers to listening.

Q.E Read the passage given below and answer the questions that follow:

The Nobel Prize is the most prestigious international award in the fields of physics, chemistry, medicine,
literature, and peace. The prize is named after a great man called Alfred Nobel. He had made a will just before
his death , which said that all his money and possessions should be put in a Trust. Yearly awards are given from
this Trust to persons who work in the interest of humanity. It was a moment of great pride for India when in
1930, the Nobel prize for physics was awarded to C.V. Raman , for his work on the ‘ scattering of light . C.V
Raman was the first Indian scientist to be given the Nobel Prize. The whole country rejoiced at this happy news.
C.V Raman himself was overjoyed . People from other countries finally recognized the brilliance and intelligence
of Indian scientists. But for C.V Raman it was not the end of the journey . He had much more work to do . All
along he was very confident that Nobel Prize would come to him.  Believe it or not, he had booked sea
passasge to Stockholm , two months before the announcement of the award. C.V. Raman was a very witty
person. He always took pride in saying that he was a professional physicist as well as a professional humorist.
When C.V Raman went to Stockholm to receive the Nobel Prize , on his way back he stopped in France. He was
invited for a party. Wine flowed like water. When the host discovered that C.V Raman was not drinking , he
said, “ Respected Sir, why don’t’ you taste our wine ? ” C.V Raman did not drink. So, with bubbling humor,
Raman explained . “ Ah ! You want to celebrate the Raman effect by finding out the wine effect on Raman !”



a) What kind of award is the Nobel Prize and which are the fields for which this award is given ?
b) To what sort of a person is this Prize given ?

d) What did Alfred say in his will made before his death ?

2
2
c) After whom is the Prize named ? 1
2
e) Where did Raman go to receive this prize ? 1

Q .F Letter writing 7x1=7

A Youare Tsomo/ Tsering. Write a letter to your friends congratulating him on his new job. He/ She has just
graduated from college.

OR
The unsanitary conditions in your colony are causing multiple diseases. Write a letter to the Municipal Commissioner
bringing the problem to his notice and request him to take urgent action in the matter. You are Sara / Sid of 4/C.
,Solar Colony Leh

Q.G Lanaguage in practice ( Role Play ) 7x1=7
1) What do you understand by the term Role Play ? Explain in detail.

Q.H Language in practice ( Telephone Skills ) 7x1=7

1) Write a dialogue of conversation between you and your best friend.
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Objective Type Questions. 5x1=5

Mention whether the following statement are True or False.
a) The writer and Miss Krishna met in a hotel.
b) The discovery of Raman Effect was made on 28 February 1927.
c) Ladakh borders Tibet and Pakistan.
d) The author’s account of Ladakh is based on what others have told him.
e) C.V Raman went to Oxford in 1921 to represent Calcutta University at a conference.

Read the passage given below and answer the following questions. 5x1=5

Marriage system is prevalent in all countries of the world today. Throughout the human history, there
have been three types of marriages. The first was marriage of the primitive man who is believed to have
been taking away by force the woman he desired to his cave. The second type was the marriage by
contract or purchase. This involved the purchase of bride from her family in exchange for money, cattle
or horses. This third type of marriage in most of the countries of the world today, is the sacred bond
having a social and emotional security to the partners. The marriage ceremonies are performed and
celebrated in different ways in different parts of the world. Most human marriages are intended to last
for life, but many societies have some provisions for divorce , ranging from the easy to the almost
impossible.

a) Define what is marriage.

b) How will you describe the second type of marriage ?

c) What is the different between the first and the last kind of marriage.

d) Suggest some reforms in the present day marriage system prevalent in your society.
e) What do you mean by the word ‘ Prevalent’ ?

Short Type Questions. Attempt any two questions. 2x5=10
Q.1 What does the writer tell us to show that while young people in Ladakh’s city prefer western ways
of entertainment, people in rural areas continue to enjoy their old, local forms of music and sports ?
Elaborate.
OR
What discovery did Raman make during his voyage across the Mediterranean and how did it prove
to be important?

Q.2 What was the story of Miss Krishna’s past ?
OR
Write a short summary of Heaven’s Gate by Pico lyer in your own works.



V.

VL.

VII.

Do as directed ( Writing) 10x1=10

You are Tsewang / Dorjey , a resident of Solar Colony, Leh. You have observed an increase in road
accidents , making you and other residents fearful. Write a letter to the Municipal Commissioner
regarding the issue.

OR

Write a short paragraph on any two of the following topics:
a) Wildlife Conservation
b) Organic Farming
c) Your favorite subject.

Do as directed ( Speaking) 10x1=10
Dolker thanks her neighbor Sonam for lending her money when she needed it. Write a short dialogue for
the situation using appropriate expressions.

OR
Purnina meets her Dentist at the bank. They greet each other, exchange a few words and take leave.
Write a short dialogue in this situation.

Match the synonyms in the two columns. 10x1=10
A B

a) Futile a) Clear

b) Broad b) Reply

c) Angry c) Destroy

d) Lucid d) Sparking

e) Brave e) Useless

f)  Answer f) Wrathfull
g) Awful g) Courageous
h) Wreck h) Wide

i) Calm i) Dreadful

j) Bright j) Quiet

There are errors in each of the following sentences. Correct them and rewrite the sentences. 10x1=10
a) How many clothings would four peoples need ?

b) What was the tool the mechanic had in his hand ?

c) Ihave just a little more pages to read.

d) This book has photos of hospital equipments.

e) That period of our life was the happiest, and those friends were the best she ever had.
f) The churches here are many century’s old.

g) The Reddies spent a lot on their children’s educations.

h) Look at the flock of bees around the hive !

i) The steel bar is 30 foots long, and it weighs 250 kilograms.

j) Why don’t you use a plier to hold watch cell ?



VIIIL. Fill in the blanks with the most suitable articles. If there is no need , then put an x on the blank:

10x1=10

a) lJigmetis honest man.

b) Ilove color red.

c) Giveme _____ pencil

d) oranges | bought were very sour.

e) lwanttoeat apple.

f) My mother has polka dotted umbrella.
g) She has idea.

h) | broke vase my brother brought.

i) Aladdinhad ____ magic Lantern.

j) Nile isin Egypt, isn’tit ?
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( Answer all the questions serially )
Q.1 Explain the grammatical terms of any five given below: 4x5=20
Noun, Preposition, Classifier, Tense, Aspect, Concord, Clause

Q. Il Identify the subject and the predicate in the following sentences: 1x5=5
1) He drank himself from the tap.
2) Not asingle person reached there.
3) The beauty of life lies in love.
4) Where he will go is not known to any.
5) What is your plan after graduation ?

Q. lll Form conditionals by joining the pair of sentences given below: 1x5=5
a) 1) Yourise early in the morning.
2) You have more time to study.

b) 1) You did not go to Hemis Tsechu.
2) You did not watch Mask Dance there.

c) 1) lam not Hitrik Roshan.
2)lI would love to act in Hindi films.

d) 1) Oilis lighter than water.
2)It floats on water.

e) 1) You did not play well.
2)So you did not get the trophy.

Q.IV  Fill in the blanks with the correct tense form of the verb given in brackets: 1x5=5
i) Getting up early everyday (be) a good habit.
ii) She (knit) a sweater over a month.
iii) Stanzin (work) in the factory from 2005 to 2015.
iv) They ( organize) the function on 6™ July 2024.
v) The winter has set in. Now birds (come) to this lake.
Q. V Choose the verb in agreement with its subject. 1x5=5
i) The parents, with their child, (is/ are ) going to the Rinpoche for seeking blessings.
ii) Every male and every female above seventy (is/ are) going to get health insurance.
iii)The number of buses running between Leh and Choglamsar (is/are) 50.
iv) His brother and his advisor (has/ have ) arrived today.
v)The secrets of success ( depends / depend ) on your hard work, dedication and passion for your interest.
Q.VI Explain the differences between the pair of sentences given below: 2x10=20

a) i) Life is always beautiful.
i) It is a beautiful life to live in Ladakh.

b) i)l hadread The Sea when | was in graduation.
ii) | read The Sea last week.



c) i) The poet and the politician are elected.
ii)The poet and politician is elected.

d) i)All the boys will participate in sports.
ii)All boys will participate in sports.

e) i)The present students depend on internet for their studies.
ii)The students present can take part in the competition.

Q. VIl Correct the following sentences: 1x10=10
i) Neither of these questions are right.
ii) Statistics are my farourite subject.
iii)Are either of these boys your friend ?
iv) Saldon and | am friends.
v) Slow and steady win the race.
vi) Either he or we has to do it.
vii) Tsering as well as her children are fine.
viii) The kind of mangoes available are not sweet.
ix) If I were in your position, | would not have done this.
X) The Prime Minister launched a new programme yesterday. ( Headline )



